Instructions for performing a hydraulic study for ODOT bridge when site is located in a FEMA zone AE

The study will be performed using ODOT survey for your HECRAS cross sections and the Q 2 — Q 500 as
found using current ODOT standard methods. This is the data that will appear on the plans.

CHECK RUN - An additional profile will be run through all three geometries using the FEMA FIS Q 100
with the boundary condition being the known water surface elevation as interpolated from the FIS to
your beginning cross section. This “check run” is the water surface elevation that we use to compare to
the open channel run ( if no bridge existed in the FEMA FIS study ) or the existing run ( if there was a
bridge in the FEMA FIS study) to get a zero rise. This data will be provided in an additional line in the
comparison table, not in the hydraulic summary.

In the case where a zero rise cannot be achieved using this method, bridge division will request the
detailed study from FEMA, and a CLOMR will be completed. A CLOMR or use of any FEMA modeling will
only be accepted and only be paid for if you have been requested by this office to do so.

We do not use the FEMA detailed study to design ODOT on - system bridges

We do not use the FEMA FIS flows or water surface elevations for the hydraulic data that is put on ODOT
plans

Example: This location has a zero rise over existing therefore no CLOMR
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050 = 5380 975.86 975,64 0.78 37515 0.29
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